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    1.    Which of the following would be logical ways that population growth affected the United States during the 2nd Industrial 

Revolution?  

                a. It caused more U.S. cities such as New York City to swell or increase in size. 

               b. It led to the demand for more products to be sold in the country. 

               c. More factories were opened because of all the new immigrants coming in as workers. 

              d. All of the above 

      2.    Look at the following scenario and match it with the correct statement that follows in the answer choices:  “Joanna is 

frustrated that she is not allowed to get petitions signed or protest her city’s conditions.” 

              a. This would be an economic push factor 

              b. This would be a religious pull factor 

              c. This would be a political push factor 

              d. This would be an economic pull factor 

      3.  Which of the following would most likely be the top reason that a twenty-five year old male from Russia would seek to 

assimilate into American society in the late 1800’s?   

              a.        He would fear being arrested by police if he did not. 

              b.        He would want to be accepted into a good job. 

              c.        He would want to continue to practice his native traditions so he wouldn’t forget them.   

              d.        He would want to make sure that he lived in a neighborhood with other Russians.    

       **4.     Which of the following 19th century fictional scenarios demonstrates a major cause of the 2nd Industrial Revolution as 

discussed in class?   (Multiple correct answers) 

             a. Javier uses coal and oil as major power sources for his factory.  

             b. Jean Paul relies upon the railroads to ship iron from the mining pit to the factory.  

             c. The government approves new laws to ensure worker safety in Jake’s coal factory. 

             d. Manfred is approved by the bank to have money in order to build his factory larger.   

    Note  Use your immigrant groups’ chart (Mexican, Chinese, Jewish, and Italian) for the next question. 

          5.   Which of the following is NOT a correct statement that one could make about the immigrant groups?  

             a.  The only reason these groups came to the U.S. was because of push factors. 

             b.  All of the people groups suffered from negative viewpoints that others in America had of them. 

             c.  The immigrants’ contributions included not only jobs they performed in America but also providing more insight about 

their culture to others.  

            d.  Immigrants came in multiple different methods of travel to the United States.    


